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2010 T 20 A LUHS|H AGHETAIS A ~ AFIET AR A
A AGtETARYA
M NaE 2(BBES/MGISE - 2 H)
ool OISa LT 22 (&te: @2
i} _ _ bolEN=
2N -3 - c2(3H) - NEME - HES 0] Ao @;OH Hl =2
A S AN A 27,407,439 22,938,452 4,468,987
= 13,788,000
2 3,228,400
=2 50,000
[= 1,074,500
= 9,266,539
AT A (BBEBS/MEILEE - 7)) 6,702,079 6,717,902 A 15,823
2 3,228,400
= 3,473,679
DtSal4E 22l 5,313,179 4,617,752 695,427
2 3,228,400
= 2,084,779
SO ENS ALETAIE HES 701,180 1,176,152 NA4T74,972
201 LBt Y] 20,420 20,392 28
01 AFR2t2/H] 6,180 6,152 28
(@RI E=1.] 3,180,000& 3,180
O=aH| 3,000,0008 3,000
02 2224l 14,240 14,240 0
OZ2ZYLHA 8,740,000 8,740
OAI & ZHI S XIH 1,800,000 1,800
OXtet Al et| 3,700,0002 3,700
202 OfH] 23,760 23,760 0
01 2oy 10,800 10,800 0
OsoEMa=s 23 d2=F 10,800,000 10,800
02 2 MH| 12,960 12,960 0
OX4LZ 22(6Y) 12,960,000 12,960
203 R F=ZAH 2,000 2,000 0
03 AMBM=XARFZH| 2,000 2,000 0
Q&GS AR AIZHEZ 2,000,0002 2,000
401 Al&HILLY] 655,000 1,130,000 A475,000
01 Al&H] 650, 176 1,122,206 A472,030
Os0HE0t2 4T Ad HES
297,840,000 297,840
OSAEAI| AXI(100H2) 29,676,000 29,676
ObtSA4E S HEX=(51A)
99,100,000 99,100
ObtS&4+E H4xelAld &X
198,560,000 198,560
OFAF XIotal ¥ 22242 HH| 25,000,000 25,000
03 Al&=2CHHI 4,824 7,79 A2,970
OsHENE 44+ AE HES
300,000,000 %0.72/100 2,160




ABta T ARl
ART B (BALS/MEIAEE - £F)
Dsa%E el (el &2
= % = 5 ME T
K- Z3 . S2(3H) - MPAY - B Y= Ao Sl ko HRs2
OZASUI| SX(10H4)
30,000,002 1.08/ 100 324
ODIS&44+E 293 JHR2(5H2)
100,000,000 *0.90/100 900
ODIS44+E B+HAAL &3
200,000,000& *0.72/100 1,440
sEsY dEEs g 3,740,000 1,350,000 2,390,000
& 2,618,000
= 1,122,000
401 AIZBIL 20| 3,740,000 1,350,000 2,390,000
z 2,618,000
= 1,122,000
01 Al&H| 3,726,536 1,345,140 2,381,396
OZARNHLHS B3I AL 3,726,536
—MEE s ALY 3,726,536,000& 3,726,536
2 2,618,000
i 1,108,536
03 Al& S CHY| 13,464 4,860 8,604
OZIXNILEEE| A ALY 13,464
—MERA LA
3,740,000,00021 0.36/100 13,464
2AE2EAE HEAMY 871,999 2,091,600 A 1,219,601
= 610,400
= 261,599
401 A EHIL 201 871,999 2,091,600 A 1,219,601
= 610,400
2 261,599
01 Al&t] 865,720 2,084,070 ~1,218,350
OZ AN AL TS L3 H AL 865,720
— A2 =EAME HEAY 865,720,000 865,720
= 610,400
= 255,320
03 AIZ SR04 6,279 7,530 A 1,251
OZANHLHS B3I ALY 6,279
A2 $TAE WAL
872,000,000& *0.72/100 6,279
gal=E 2tel 1,388,900 2,100, 150 AT11,250
Ngass 22044 400,000 602,400 A202,400
401 Al&HI LS04I 400,000 600,000 200,000
01 Al&H| 397,120 596,220 A 199,100
OMBIYALT BRUE ZA
397,120,000& 397,120
03 Al 20| 2,880 3,780 A 900
OMBIYALT BRUE ZA
400,000,000 *0.72/100 2,880
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AN Mot A A
HH: MG 2L (BHEBS/4GEE - E)
Rl Nat=E 2o (cte: =<
) _ AT
SAN-ZH-SA(FA) - NFAY - BES (il & OH ‘Oﬂ/i\_Fo” Hlw &2
238 X 2 2 38,900 36,500 2,400
201 Let2d| 3,500 3,500 0
01 AtE22|HI 2,810 2,800 10
Q1= 310,000& 310
O=&Hl 2,500,000& 2,500
02 232 690 700 A10
OZB22=aLHA 690,000& 690
202 O4Hl 5,400 3,000 2,400
01 =LA b 5,400 3,000 2,400
OAstd 2t HRFX 3,000,000& 3,000
OXNga-E 2A20Md RF& 2,400,000& 2,400
401 Al EHIL 201 30,000 30,000 0
01 Al&H] 29,676 29,676 0
OAsd 4X & E 29,676,000& 29,676
03 A& 01l 324 324 0
O2std 4X & £ 30,000,000 *1.08/100 324
S sOHESYEST H2AY 150,000 0 150,000
401 AM&HIL 2048 150,000 0 150,000
01 Al&H| 148,920 0 148,920
SHEMES > HLMS(HAEH)
148,920, 000& 148,920
03 AIZR0iHl 1,080 0 1,080
S sHEME=E HZAIS(AAIEAH)
150,000,000& *0.72/100 1,080
S FHR 01 800,000 0 800,000
401 AlEHIL 20 800,000 0 800,000
01 Al&H| 794,960 0 794,960
O&EE+Z FF OIE(AAIEA)
794,960,000& 794,960
03 AIZ SR04l 5,040 0 5,040
Ogdd=& =& 0ld
800,000,000% *0.63/100 5,040
3ot el (BHEES/AoteE - =F) 19,556,620 14,302,700 5,253,920
= 13,788,000
= 1,074,500
= 4,694,120
St=2tD1 &l 780,000 5,483,000 A 4,703,000
= 546,000
= 234,000
ZHAES St=2 FHIAY 780,000 800,000 /20,000
= 546,000




M HotEAIE A
Y IOt ALl (BHEES/Aot=E - =F)
el of=24 &bl (&9 HM
- _ _ MNEC
SH-EFHHA(FA) - NIRAE - BES O AFH 'oﬁ/'\_FOH Hws2
i 234,000
401 AlEBIZL 20 780,000 800,000 220,000
= 546,000
i 234,000
01 Al&HI 762,138 794,960 A32,822
O3BIBEZ ALY 762,138
—ZHES ot AL
762,138,000 762,138
= 546,000
= 216,138
02 Zelyl 12,948 0 12,948
O3B AL 12,948
—ZHES ot AL
780,000,000 *1.66/100 12,948
03 AIZS0iHI 4,914 5,040 N126
O=HIBx At 4,914
—ZHAS ot==2H ZHIAY
780,000,000 *0.63/100 4,914
St==XelAld &X 13,503,000 2,552,000 10,951,000
= 9,652,000
L= 810,560
= 3,040,440
JiOIOtZ St+=ZE L X2l & &X 6,677,000 1,429,000 5,248,000
= 4,874,000
== 401,000
= 1,402,000
401 AlEHIZL 20 6,677,000 1,429,000 5,248,000
= 4,874,000
= 401,000
i 1,402,000
01 Al&HI 6,312,307 1,206,455 5,105,852
O=HIBZ AL 6,312,307
—JIOIOI2 Gt ZXclE &X
6,312,307,000& 6,312,307
= 4,874,000
== 401,000
= 1,037,307
02 Zelyl 348,000 217,400 130,600
O3B AL 348,000
—JIOFOFZ Gt==32ZXeld &X
29,000,000 =12& 348,000
03 AIZS0itI 16,693 5,145 11,548
O=3HIBZ AL 16,693
—JIOIOFZ Gt==3ZXeld &X
6,677,000,000& *0.25/100 16,693
ZHES ot=BL AT EX 6,826,000 1,123,000 5,703,000




SN AT AR A
M ZI/OIAE 22 (HYRS/MGHAE - +F)
9l GteHRlAlA A3 (9l &2
_ _ _ Muo
SN B SRA(SIH) - MBAY - BAS 0l &k 24 e HlnE2
= 4,778,000
= 409,560
2 1,638,440
401 Al Bl L 2 Thbl 6,826,000 1,123,000 5,703,000
2 4,778,000
= 409,560
2 1,638,440
01 Al&t] 6,460,935 901,557 5,559,378
O=HIBEAY 6,460,935
—EANE tABUH2AY &1
6,460,935, 0002 6,460,935
2 4,778,000
= 409,560
2 1,273,375
WRETEI] 348,000 217,400 130,600
CETEEIV= 348,000
—EZANE GH+BLH2AY HA
29,000,0002! * 128 348,000
03 Al = Ch] 17,065 4,043 3,022
OZHIEZ ALY 17,065
—EANS t+SUH2AY &1
6,826,000, 0002 0.25/100 17,065
[ToETAA By 5,273,620 6,267,700 994,080
2 3,590,000
= 263,940
2 1,419,680
YNE GHATAIE =5 3,403,000 5,359,000 1,956,000
2 2,776,000
= 204,180
2 422,820
403 XX EHH SXHE 0l H 3,403,000 5,359,000 1,956,000
2 2,776,000
= 204, 180
= 422,820
02 ZI2HS Ol CHEHCHE AR: b 3,403,000 5,359,000 1,956,000
O=HIBEAMY 3,403,000
—HEYNT AN HE
3,403,000,000%! 3,403,000
2 2,776,000
= 204, 180
2 422,820
TAHYTAL FaT HH| 707,620 608,700 98,920
201 Y2 3,300 3,300 0
01 At 1,700 2,000 A300
SEEES=1t] 200, 0002 200
SEET] 1,500,0002 1,500

_5_




Mt A A
DToILE B (BYRE/MEAEE - £F)
TToILTAE F| (25l &2
_ _ _ Muo
SN B EQ(E) - HIRAY - BES Ao il i~ o Hnz2
02 BB 1,600 1,300 300
OZZRILHA 1,600,002 1,600
202 04t 4,320 5,400 A1,080
01 2Uhoit] 4,320 5,400 A1,080
OBt 4+E U2 LR 4,320,000%! 4,320
401 Al&HIL 20| 700,000 600,000 100,000
01 Al&t] 696,040 595, 680 100,360
OSANHEHTAL 5145 HHl  99,100,0009! 99, 100
OBZoH+ETAU ARK 24
200,000,000% 200,000
OZANHEHTALY 545 F4&  99,100,0008 99, 100
OBEZ st+THH JI2H = (HY)+E
297,840,000% 297,840
03 Al& = CH| 3,960 4,320 A 360
OSANHEHTALY 5t4+T Hb|
100,000, 0002 %0.90/ 100 900
OEANHHDAY Bi+E =4
100,000,000 %0.90/ 100 900
OBEZ st+EHHl JI2H = (HY)4
300,000, 00024 %0.72/ 100 2,160
SO Z0IS5H4E FHIAIY 996, 000 300,000 696,000
= 697,000
= 59,760
2 239,240
401 AIEHIL2CH] 996, 000 300,000 696,000
= 697,000
= 59,760
2 239,240
01 Al 989,329 297,840 691,489
O3 2 XA 989,329
—24 Y02 GH4E X 435,839,0009 435,839
= 307,000
= 26,340
2 102,499
— O SY0HS Gt4+T &X 553,490,0009 553,490
=2 390,000
= 33,420
2 130,070
03 Al&=H| 6.671 2,160 4,511
CETIEINL- 6,671
—24 AB0IE GG X
439,000,000 %0.72/100 3,161
—UE HY0rE St-E X
557,000,000 0.63/ 100 3,510
StaMEIAL $EY HANL MX AY 167,000 0 167,000




A AGtETARY A
HH: ZTII+E 22 (BALE/NGIHE - +E)
& 3ot A4 Fl (&9 ®M
_ _ bSNE =
2MH - 2 . H2(ZH) - MEAY - BES Of] AF2H @,;OH Hl =2
= 117,000
= 50,000
401 Al&HI LY 167,000 0 167,000
= 117,000
= 50,000
01 Al&H] 165,797 0 165,797
OZHIBZALY 165,797
— &0 2E0HEHEIAE SEYH H2AAIA
A X 165,797,000 165,797
= 117,000
= 48,797
03 Al&220iHl 1,203 0 1,203
OZHIBZ ALY 1,203
— & 2EGHSEHEIAE SEH HAAA
=Nl 167,000,000= x0.72/100 1,203
HE AU (Aol AP A ) (DI EHIIE 20,740 21,850 A1,110
ol 29| 4,200 4,200 0
ol 23| 4,200 4,200 0
203 2= 4,200 4,200 0
04 BN2IARFZH| 4,200 4,200 0
ORAN2IALRE=XH| 4,200,000 4,200
Jl=AH| 16,540 17,650 1,110
Jl=AH| 16,540 17,650 1,110
201 LBt 8,140 8,650 A510
01 AFRZt2lH] 8,140 8,650 A510
Oggta=2H| 8,140,000 8,140
202 OfH] 8,400 9,000 A 600
01 ZLoiH| 8,400 9,000 AB00
OENSE(AIZ, MO B4 5)
8,400,000 8,400
LS (A6l ANSA)(EHES/MGISEE - 7)) ,128,000 1,896,000 A768,000
2 50,000
= ,078,000
LHEHH KIS , 128,000 1,896,000 768,000
=2 50,000
= ,078,000
JIEHSIHEE2 , 128,000 1,896,000 768,000
=2 50,000
= ,078,000
701 JIEISIHEE2 ,128,000 1,896,000 AT768,000
=2 50,000
= ,078,000
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